Operaciones combinadas con monomios

Efectuar las siguientes operaciones combinadas con monomios:

1.

2.

3.

4.

10.

11.

12.

13.

14.

15.

15x° —3x3 - 4x?
2x3 +4x° -5x—2x-(—x2)

3a-ab—2a’-(—4b)-8-(2a’b)
3X* +4x* - 2x* - (-3x) —(4x° +X* - 2x-X*)
—3xy’ —(—4x-7y*)+[8x°y* : (2xy) |
(-v*)-(-2y?)-5y-(-2y°)+3y°-(-4y)
(3x3 -BX — 2X? -xz):(4x2 .3x? —8x-x3)
3¢ 2.3y
4a%b- (—ab2 ) .5ab—8a’b*
a2 S
6 5

5x° —2x° - 3x° :(—2x6)
(_sz).(_ixjﬁxzt

3 7 3
2ab(-a’h)+ [ab2 (—3a2b)} —5a’bab +aba’h?

,
2x° 1 X+ 21X2
3 3X

—X’y —(-3x*-7y)+(16x°y’z: 4y’z)

Soluciones:

1.

2.

3x° 9. —28a’b*
20x* +4x° 10 34
—5a’b

43 +6x°

29xy?

11. 8x°

12. 2x*

13. —7a’h® —2a%°
23 &

15. 24x%y
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